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al||bandpisa transversal. Lill in the blanks describing the angle relationships with regard to £ 3.

Z3and £« Y  arcalinear pair (suppmmc,n-\-amﬂ
£33+ L = \9O

Z3and £ | area lincar pair (supprement-ony) £
%+ £\ =190 1 /5
Z3and £ Z  are vertical angles < 3 /4 >
Z3and £ _F  are corresponding angles o 5/6 >
7/ 8
/3and £ (  are alternate interior angles / ‘
(same Sided
Z3and £ 5  are consecutive interior angles (Supple CYTS'O-T\{) .
a || b and p is a transversal. If m £ 1 =140°, find the p
measure of each angle giving one reason for each answer. ;qo/
— 2 >
' HO03/4 14O
mz2=_HO mZL3=_70 Ho .qo 5 40
180 p—<¢ 7 8 >
- 140 Ho / 40
qo
ms4=_|HO msz5=_(H4O
mL6=__ 4o m4L7=_HO m/8=_140

Identify the type of angles and their relationship.. Write the equation used to solve for x. Then, find
the value of x. Put a box around your answer.

1. /4 2. \
<< > <+« >
//@+8m° \<3-1m°
P> _\°
‘4wf 83220 » >
type of angles: _COrrespondin 9 type of angles: Awernote. Nt or
relationship: J)thpum-t- | relationship: Dong?‘\) ent
equation: Bx = %X + B0 equation: (p5-X = 2x =10

S ©5 2x-10 ""5:%—
g = & Ex



